s> (eB

® __—]
=] SVEDBERGS |
@
R809619110 (Cube) o




(2)



Ant/Qty Titel / Title

Art.No.

Keramisk tétning / Ceramic cartridge

98803

Fastmutter till omkastare / Diverter fixing nut

Omkastarring / Diverter ring

Omkastarstop / Diverter stopper

Tackhylsa for omkastare / Cover for diverter

Anslutningsmutter / Connection nut

Fastmutter omkastare / Clamping nut for diverter

Basring for omkastare / Base ring for diverter

Omkastarhandtag / Diverter handle

Skruv till vred / Screw for lever

Bricka till skruv / Washer for screw

Omkastarvred / Diverter lever

Termostat / Thermostat

98802

Termostatstod / Thermostat support

Skruv till termostat / Screw for thermostat

Stéd for basring / Support for base ring

Fastmutter termostat / Thermostat fixing nut

Temperaturring / Temperature ring

Fastmutter termostat / Clamping nut for thermostat

Basring for termostat / Base ring for thermostat

Lasning temperaturspérr / Locking for temperature lock

Knopp till handtag / Knob for handle

Insexskruv M4x10 / Inox screw M4x10

Insexskruv M4x4 / Inox screw M4x4

Temperaturhandtag / Temperature handle

Temperaturspérrfjader / Temperature lock spring

Temperatursparr / Temperature lock

Plugg / Plug

O-ring 11x9x2

Ovre blandarhus / Upper mixer body

O-ring 24x18,72x2,62

Blandarhus nedre / Lower mixer body

Backventil / Non return valve

Gummipackning 56x44x3 / Rubber packing 56x44x3

Metallbricka 52x45,5x1 / Metal washer 52x45,5x1

Insexskruv M5x8 / Inox screw M5x8

Gummipackning 72x54x2 / Rubber packing 72x54x2

Metallbricka 70x54,5x2 /| Metal washer 70x54,5x2

U
wl|w|w|w|w|w|lw|w|lwlw|NppNd NN NN N lala]alala]a
coooslmmAwN—\ccoooNmmhwn—\c«:ooslmmhwm-xo“’m“a""h“”—‘8

N PN I NI SN PN N Y 1 L Y Y Y Y R EEY IEY Y EY Y IEY Y Y JIEY Y Y EEY IEY JIEY I Y Y KN IEY Y PR FEY

Blandarcylinder / Mixer cylinder

=S| sVEDBERGS

| 2010-06-14 |
3)




